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=: Probabilistic Grammars!

G = ({f(a), f(b)}, {1} .P,f(a))
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Decidable AST Fragment of PTRSs?

R: f(a) — {Y2:c(f(a),f(b)), Y2:f(b)}
fb) — {s:a, 23:f(a)} |

=: Probabilistic Grammars!

G = ({f(a)vf(b)}7 L} P f a))
— s =~

Non-Terminal Terminal Start

fa) B f(a)f(b)
fla) B f(b)
fby & 1

fby B f(a)
G2 = ({f(a), f(b)}, {L}, P, f(b))

Decidable!
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Open Problems:

@ Can we decide AST?
o Right-ground, tail recursive, and non-overlapping PTRS
~» probabilistic petri nets?
~ probabilistic grammar?

@ Do we need non-overlapping?
~ introduces more non-determinism

@ Do we need tail-recursive?
~» what do we count?

@ Does it also work for PAST?
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o DP Framework for innermost AST/PAST
o a(f, x) = a(t, n(t)) ~ A(f, x) — Coma(A(t, n(t)), N(t))
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Current Research

DP Framework for innermost AST /PAST
a(f,x) — a(t, n(t)) ~ A(f,x) — Coma(A(t, n(t)), N(t))
@ Properties that guarantee AST = iAST/PAST = iPAST
o Non-Overlapping, Left-Linear and Non-Duplicating
e DP Framework for (full) AST/PAST
o Different processor definitions than for iAST

@ PTRSs with build in natural numbers
o f(x) = {5 f(x+ 1), = a1 fix—=1)}
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DP Framework for innermost AST /PAST
a(f, x) — a(t, n(t)) ~ A(f, x) — Coma(A(t, n(t)), N(t))
@ Properties that guarantee AST = iAST/PAST = iPAST
o Non-Overlapping, Left-Linear and Non-Duplicating
e DP Framework for (full) AST/PAST
o Different processor definitions than for iAST
@ PTRSs with build in natural numbers
o fx) = {7 +flx +1), 7 f(x - 1)}

@ (P)AST-Decidable Fragments of PTRSs
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e DP Framework for innermost AST/PAST
a(f, x) — a(t, n(t)) ~ A(f, x) — Coma(A(t, n(t)), N(t))
@ Properties that guarantee AST = iAST/PAST = iPAST
o Non-Overlapping, Left-Linear and Non-Duplicating
e DP Framework for (full) AST/PAST
o Different processor definitions than for iAST
@ PTRSs with build in natural numbers
o f(x) = {Z5 f(x+1), 75 : f(x — 1)}
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